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PRIMARY SCHOOL SCHOOL 
LEVEL 
SUBJECT 
TERM 

 

BOOKLET A 

Q1 Q2 

2 3 

Q 11 I Q.12
.. 

2 1 
. .  

Q 21 Q22 

1 1 

BOOKLET B 

PRIMARY3 
SCIENCE 
2023 SA2 

Q3 Q4 Q5 Q6 .. 07·· 

4 4 1 4 3 

Q13 Q14 Q15 Q16 Q17 
· .. . .. 

4 2 3 4 3 

•. Q23 Q24 
... • ·. 

4 3 

I 

. 

. 

. 

Q25) 
Living things. I. Non-living thi,:igs

I 

coconut tree roasted chicken 

snail 

Q26) (a) Living things need water to survive

(b) Living things. need air to survive

I 

Q8 
I 

1 

Q18.. 

3 

Q27) (a) No. Animal P had feathers but Animal Q has hair.

cover are not the same.

(b) p. Bothe P and Q have feathers

Q28) (a) Clay eggs but A does not

(b) B lay eggs but does not have moist skin

Q29) (a) Both X and Y reproduce by spores

(b) X has leaves but Y does not

Q3O) (a) 7

Q9 , Q1O 
· . .. 

2 4 

Q19 Q20 
. 

4 3 
.• . 

So their body 

(b) As the amount of water sprinkled on the bread increases, the

number of days for the mould to first appear in the bread decrease.

Pg 1 



Q31) 

Q32) 

Q33) 

Q34) 

(c) You can reduce the amount of water on bread E.

(a) 

(b) Both the chicken and animal K have ·an egg stage

(a) Adult stage

(b) pupa

(c) 1 O

(a) 

(b) Adult stage

(a) 

adult pion! 

(b) The roots need to absorb water for the plant to survive so it will grow

towards the water.

Q35) R as it is the strongest rod and it was able to carry the most amount of 

marbles before breaking and Part X needs to be strong. 

Q36) 

Q37) 

(a) F, E, G

(b) G. It did not absorb any water and help to keep her hands dry.

(a) Electrical method

(b) J. Part B of rod J moved away from the magnet. The like poles of

the magnet were facing each other. Hence they repel.

(c) Jason can increase the number of coils around the rod.

Pg 2 


